
byLADDER type 2a

Rev. 0

   Hex

 10 mm

CH-8.8 M6x45 D.8
Ø 8 mm min 10 Nm

Torx T30TT-85-T M6

x 12

x 8

WALL PLUG 

= x 2

CABLE TIE 

+

Ø 6 mm

ISO7380.2 M6X16 DIN985 M6

+ = x 2

   Hex

 10 mm

Hex key 4

min 5 Nm

45 mm

40 mm

MODELS FL500 TO FL800:

MODELS FL500 TO FL800:



Rev. 0

21

1

MAX 600 mm 4 x 10Nm 

4

OPEN

CLOSE

1 2 3 4

byLADDER type 2a

For models FL500 to FL800: 

CH-8.8 M6x45 D.8

TT-85-T M6

4 x 10Nm

12 x 5Nm

wall plug + cable tie

2

ISO7380.2 M6x16  +  DIN985 M6

Do not tighten !
¡No apretar !

3

Use the chocks included 


